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G(z:A) = exp(Ag(z) — 1)), A >0, (1)

000 g(z) =32,¢000000000000000 3%, ¢=1,¢>000000000
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OO0 1 Let Fy~ Jszl CP(Aj,q),\j > 0. Let Y ~ q independently from F ;. Write p := Zj Aj.
Then for n € N,
E(FjIN =n) =nmnj, j € [J],

VIESIN = n) = nmj(1 — ;) f(n, 1, q), j € [J]; (2)

where EY(Y ~1)[N+Y =n)P(N+Y =n)
B 1 — =n =n

CO’U(E,FAN = n) = _nﬂ-iﬂ-jf(nnu» Q), (NS [*”7] € [‘]]7Z #]

000 f(n,u,q) >10000CCPOOUOODODOODOUODOOOODODOODOOOOOOO =1
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O 1 For all (n,pu,q), CCP(n,m, w2, ..., 77, 1k, q) has the same correlation matriz.
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0 2 Let q; = (¢i)" texp(—4i)/i!,i € N,0 < ¢ < 1. Suppose that Fj ~ JL}-JZI CP(Aj,q),A\; > 0.
Write B :=1€/ % X\; > 0. Then for 3 >0 andn € N,

VIFS|N = n) = nmj(1 = ;) f(n. §) 3)
where 1
Fn8) = 0= (n = Danoaln+ 579" 23,
and 2 n

el — z z
an(z) =nlz™" e Z(1+z+§+---+a).



